

Event code: E017-CCPDC-Y12-0922

Event Date: 22 Sep 2012 (9:00am - 12:00pm)

Venue: TU-107, HK Polytechnic University, Hung Hom, Kowloon

Report date: 24<sup>th</sup> September 2012

#### **Event Report**

The "Risk Management and Safety Seminar" was successfully held on 22<sup>nd</sup> September 2012 at The Hong Kong Polytechnic University. There were 82 applicants and they were respectively come from different specialists in engineering. Every attended applicant got a 3-hour CPD certificate.

The seminar was jointly organized by "The Chartered Institute of Logistics and Transport in Hong Kong", "Hong Kong Association of Risk Management and Safety", "Institution of Occupational Safety" and "Community & Construction Professionals' Development Centre". "Shipping Research Center" of The Hong Kong Polytechnic University was the sponsoring organization.

We invited Mr. YU shu-xi, the president of Guangzhou Safety Production Administration Association, to be the seminar speaker. Mr. YU works on improving safety production for a long time, he strives for implementing laws and policies in occupational safety and health. In 2011, Mr. YU was recommended to be the first Chinese honorary vice president of the Institution of Occupational Safety and Health (UK).

In the seminar, Mr. YU talked about the safety production targets and the requests of Guangdong Province Government. He was not only explaining the reasons why the Guangdong Province Government carries out "One post, two responsibilities (一崗雙章)", but also its meanings and purposes. He mentioned about the requests of corporate responsibilities in safety production, the measures of upgrading facilities of safety production protection and management quality.

Afterword there was a lunch meeting with Mr. YU at 4/F Communal Building, The Hong Kong Polytechnic University.



## **Photos**



There were 78 persons attended the seminar.



Attendees concentrated on listening to Mr. YU.



Mr. YU was talking about risk management and safety.



Tea break during the seminar.



Mr. YU was granted an HKARMS appreciation flag by Mr. Vincent Ho.



Mr. YU was granted a CCPDC appreciation flag by Mr. King Wong.



### **Financial status**

#### **Income from Co-Organizers / Supporting Organizations:**

		Qty	Unit	Unit Rate	Sub-total	Total
IOSH		20	Person	\$100.00	\$2,000.00	
CCPDC		11	Person	\$200.00	\$2,200.00	
HKARMS		3	Person	\$100.00	\$300.00	
	*1	1	Person	\$200.00	\$200.00	
HKIE		11	Person	\$100.00	\$1,100.00	
		3	Person	\$200.00	\$600.00	
HKIUS		1	Person	\$100.00	\$100.00	
HKOSHA		3	Person	\$100.00	\$300.00	
		1	Person	\$200.00	\$200.00	
SRSO		5	Person	\$100.00	\$500.00	
		1	Person	\$200.00	\$200.00	
CILTHK		3	Person	\$100.00	\$300.00	
					##_	\$8,000.00
Income from other Organia	zations / Non me	mbers:				
Other Organizations		1	Person	\$200.00	\$200.00	
Non members		7	Person	\$200.00	\$1,400.00	
					<u>.</u>	\$1,600.00
Total income					_	\$9,600.00
Expenses:						
Lunch			-		\$1,000.00	
Honorarium for Mr. YU			-		\$5,000.00	
Tea and snacks			-		\$790.00	
Dinner			-		\$450.00	
Refund	*2	2	Person	\$100.00	\$200.00	
Others					\$11.2	
Printing production					\$500.00	
UTI production					\$1,000.00	
Breakfast on 22 Sep					\$220.00	
Total expenses					_	(\$9,171.20)
Surplus / (Deficit)					=	\$428.80
and the second s						

<sup>\*1</sup> Overpaid \$100.00

<sup>\*2</sup> Refund for overpaid and Mr. Sammy Wan's application fee



# <u>Remarks</u>

There were 4 no-show applicants.
All Payment received.
Prepared by: <i>Kelvin Wong</i>
Approved by:
 Kina Wona